Name: __________________________
Date: _________________________

Parallel Lines N1

Parallel Lines cut by a Transversal


A Transversal  is a line that __________________  ______  ______________  lines.

Line ____, in the picture below, is a transversal. [image: image1.png]Complete the statement. Explain your reasoning.
18. Ifthe measure of Z1 = 124, then the measure of £4 =

19, 1fthe measure of 22 = 48", then the measure of £3

20. I the measure of £
21, Ifthe measure of £6 = 120", then the measure of £8 =
22. Ifthe measure of £7 = 505", then the measure of 26

55", then the measure of 22

23, Ifthe measure of £

1187 then the measure of £2 =











     






     Alternate Interior Angles:








     Corresponding Angles:








     Vertical Angles:


1.  If m    1 = _____, then determine the measure of each other angle and give a reason. Use each vocabulary phrase above at least once.

2.  If m    1 = ___​____  and m    2 = _________, solve for the measure of     1 and     2.

3.  If the m    1 = __________ and m    8 = __________, solve for the measure of     1 and     8

FIND THE MEASURE OF ALL MISSING ANGLES. GIVE A REASON FOR EACH.

1.     Reasons: _______________________________________________________________________





2.    Reason: __________________________________





3.  Reason: __________________________________





4.  Reasons: ________________________________________________________________________

Name: _______________________________
Date: ___________________________

Parallel Lines Cut By a Transversal Hmk 1


Name: _______________________________
Date: ___________________________


Parallel Lines Cut By a Transversal Hmk 1


Name: _______________________________
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